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billiards club MARS

GROUP A GROUP B
P ESN e EH |WP|HR[BG| TP. | TIL GA. 3 o He [HEH WP | HR|BG| TP. | TL GA.
4 4 3
FRBR | kasr| 14 | 18 | 2| 4 22| 32| 43| 0.744 BB | aar | 18 | 15 | 2| 3 | 20| 33| 49 | 0673
Roots 21 22 Fa1 X 20 29
3 5 _ 2
MBER | 18 |kasr | 18 | 4| 5|21 36| 50| 0720 BE=E | g |kar| 12 |03 20 | 37 | 0.541
DAN 21 29 FRIRUR 20 17
4 3 5 3
RIRiER 16 | 16 | xasr | 0 | 4 32 | 51| 0.627 BE & 18 | 18 | kasF | 4 | 5| 17| 36 | 46 | 0.783
e 22 29 DAN 29 17
GROUP C GROUP D
EFH B /NEE F |[wP|HR|IBG| TP | TL G.A. EFH C=) & i |wWwP|HR|[BG | TP. | TL G.A.
4 2 3
BEWE | wor | 18 | 8 | 2| 4|19 26| 30| 0.867 PRER | war | 18 | 18 | 4| 4 | 14| 36| 39 | 0.923
ARAI 19 11 JLisy 25 14
3 3 2
INERERBE 11 | kasr | 16 | 0| 3 27 | 38 | 0.711 aHAER 16 | KasF | 18 | 2| 4 |20| 34| 45| 0.756
HE 19 19 BAZ 25 20
- 7 5 2 3
=805 18 | 18 | kase | 4| 7| 11| 36 | 30 | 1.200 RHBA 6 8 |kasr|o|3 14 | 34 | 0.412
LIS 11 19 Roots 14 20
GROUP E GROUP F
BFL k) 2 #WE |WP|HR|BG| TP | TL GA. BEFL 2ARF =R XA |WP|HR|[BG| TP. | TL GA.
3 4 4
S Kasr | 17 | 18 | 2| 4 |17| 35| 52| 0.673 ARE B | (o 18 | 18 | 4|9 |16| 36| 32| 1.125
ARAI 35 17 WIND 16 16
s 5 1 - 4
= WA 16 | kasr | 4 |05 20 | 57 | 0.351 =R#Z 10 | kasr | 18 | 2| 4 |16] 28 | 32| 0.875
e 35 22 BAZ 16 16
3 5 3 3
A& 12 | 18 | xasF | 2 | 5| 22| 30 | 39 | 0.769 AR 7 9 |kasF|o0|3 16 | 32 | 0.500
MARS 17 22 FE 16 16
GROUP G GROUP H
EFH #RHE Tis] it |WP|HR|BG| TP. | TL G.A. EFH E:) BEX 0 |wP|HR[BG| TP. | TIL G.A.
7 6 2
BN kasF | 17 | 14 | o 31| 38| 0816 AKX KASF | 18 | 18 | 4| 4 |26| 36 | 55 | 0.655
Roots 21 17 <= 29 26
3 6 2
WAR— | 18 | kasr | 18 | 4 3 | 42 | 0.857 AFEB | 17 | waor | 13 0] 4 30 | 50 | 0.600
RAILBIRD 21 21 gz:| 26 24
4 2 3 4
PHE— | 18 | 6 | kasr | 2 24 | 38 | 0.632 BAAX | 14 | 18 | wesr | 2| 4 24| 32| 53 | 0.604
MARS 17 21 DAN 29 24
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MAMTO AMATEUR 3-CUSHION FEDERATION
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